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Practice Exercise

1. In 
 if the ratio of 7th term from the

beginning to the 7th term from the
end is 1/6, then find the

value of 

A. 7

(33 + )
n

1

33

n.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2A63VSPBhloH


B. 8

C. 9

D. 10

Answer: C

Watch Video Solution

2. In the expansion of , if the value of the

third term is 1000, then the value of a is

A. 10

B. 100

C. 1000

D. 99

[ + alog10a]
5

1

a

https://dl.doubtnut.com/l/_2A63VSPBhloH
https://dl.doubtnut.com/l/_12p4Gt8gHFNo


Answer: B

View Text Solution

3. If , then

A. Re(z)=0

B. Im (z)=0

C. Re (z) 

D. Re (z) , In (z) 

Answer: B

View Text Solution

z = ( + )

5

+ ( − )

5
√3
2

i

2

√3
2

i

2

> 0, Im(z) > 0

> 0 < 0

https://dl.doubtnut.com/l/_12p4Gt8gHFNo
https://dl.doubtnut.com/l/_6JNgoaDHYenw
https://dl.doubtnut.com/l/_912mlTLuRM1s


4. The expression 

 is a polynomial of

degree

A. 5

B. 7

C. 9

D. 6

Answer: B

Watch Video Solution

[x + (x3 − 1) ]
5

+ [x − (x3 − 1) ]
51

2
1
2

5. Find the coefficient of 
 in the expansion of x4

(x/2 − 3/x2)
10

.

https://dl.doubtnut.com/l/_912mlTLuRM1s
https://dl.doubtnut.com/l/_yC62ZEW11Ghs


A. 

B. 

C. 

D. 0

Answer: B

Watch Video Solution

305

256

405
256

504
256

6. The expression , where , is

divisible by

A. 7

B. 25

C. 2

72n + 23n− 3.3n− 1 n ∈ N

https://dl.doubtnut.com/l/_yC62ZEW11Ghs
https://dl.doubtnut.com/l/_fZgFvOuYD3au


D. 5

Answer: B

View Text Solution

7. If 7th term in the binomial expansion of

 is equal to 729, then x can be

A. 

B. e

C. 

D. 2e

Answer: B

( + √3 lnx)

9

, x > 0
3

3√84

e2

e

2

https://dl.doubtnut.com/l/_fZgFvOuYD3au
https://dl.doubtnut.com/l/_c8Bdi6VMc17F


Watch Video Solution

8. If the coefficients of the rth, (r +1)th and (r + 2)th terms in

the binomial expansion of (1 + y)^(m)` are in A.P., then m and

r satisfy the equation

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

m2 − m(4r − 1) + 4r2 + 2 = 0

m2 − m(4r + 1) + 4r2 − 2 = 0

m2 − m(4r + 1) + 4r2 + 2 = 0

m2 − m(4r − 1) + 4r2 − 2 = 0

https://dl.doubtnut.com/l/_c8Bdi6VMc17F
https://dl.doubtnut.com/l/_nIqcxNoOYyNm


9. Find the middle term in the expansion of 

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

(1 + x)2n

2n. xn
1.3.5…(2n − 1)

n !

1.2.3.4…(n + 1)

(n + 1) !

1.2.3.4…. n

n !

10. Find the middle term in the expansion 
.

A. 

B. 

( x2 − )
20

2

3

3

2x

20C10x
11

20C9x
10

https://dl.doubtnut.com/l/_i3YLeY7FLsJe
https://dl.doubtnut.com/l/_xEX5EpuuUtIi


C. 

D. 

Answer: C

Watch Video Solution

20C10x
10

20C9x
9

11. If the last term of  is ,

then the 5th term from the beginning is

A. 210

B. 310

C. 200

D. 300

(21 / 3 − )

n
1

√2
( )

log3 81

3.91 / 3

https://dl.doubtnut.com/l/_xEX5EpuuUtIi
https://dl.doubtnut.com/l/_3lydRrc7Q3EM


Answer: A

Watch Video Solution

12. In the expansion of , the number of

irrational terms are

A. 93

B. 95

C. 97

D. 99

Answer: C

View Text Solution

(51 / 6 + 21 / 8)
100

https://dl.doubtnut.com/l/_3lydRrc7Q3EM
https://dl.doubtnut.com/l/_6CFQ9r4A5x4P
https://dl.doubtnut.com/l/_8FhjdSRc3zmZ


13. Find the value of the greatest term in the expansion of

.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√3(1 + )

20
1

√3

(
20

7
)

1

27

(
20

6
)

1

81

(
20

9
)

1

9

(
20

8
)

1

3

14. The greatest term in the expansion of , when

x=1/5, is

(3 + 5x)15

https://dl.doubtnut.com/l/_8FhjdSRc3zmZ
https://dl.doubtnut.com/l/_O419EsHKMjJj


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

15C3

15C4.311

15C10.310

15C3.313

15. Find the term independent of x in the expansion of

.

A. 

B. 

C. 

(3x − )
15

2

x2

−3003(310)(25)

−3003(310)(24)

3003(310)(25)

https://dl.doubtnut.com/l/_O419EsHKMjJj
https://dl.doubtnut.com/l/_aCCPpj4gdTE3


D. None of these

Answer: A

Watch Video Solution

16. If p is a real number and the middle term in the

expansion of  is 1120, then find the value of p.

A. 

B. 

C. 

D. 

Answer: C

W t h Vid S l ti

( + 2)
8p

2

±3

±1

±2

±4

https://dl.doubtnut.com/l/_aCCPpj4gdTE3
https://dl.doubtnut.com/l/_V8ganPcsz6PL


Watch Video Solution

17. The constant term in the expansion of  is

A. 479

B. 517

C. 569

D. 581

Answer: D

Watch Video Solution

(1 + x + )
62

x

18. Find the term in 
which has the same

power of 

( 3 + √ )

21
a

√b

b

a3

aandb.

https://dl.doubtnut.com/l/_V8ganPcsz6PL
https://dl.doubtnut.com/l/_hLKYsc5ID5kj
https://dl.doubtnut.com/l/_nW345hkEEfAf


A. 9

B. 10

C. 8

D. 6

Answer: A

Watch Video Solution

19. If the coefficient of  and  in  are equal,

then n is

A. 56

B. 55

C. 45

x7 x8 (2 + )
nx

3

https://dl.doubtnut.com/l/_nW345hkEEfAf
https://dl.doubtnut.com/l/_Ck6jaYrXsl12


D. 15

Answer: B

Watch Video Solution

20. If the coefficients of three consecutive terms in the

expansion of 
 are in the ratio 1:7:42, then find the

value of 

A. 51

B. 53

C. 55

D. 57

Answer: C

(1 + x)n

n.

https://dl.doubtnut.com/l/_Ck6jaYrXsl12
https://dl.doubtnut.com/l/_cuhERkdKxHVl


Watch Video Solution

21. If the sum of all the coefficients in the expansion of

 is  and the sum of all the coefficients in

the expansion of  is , then which of the following

is correct ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1 − 3x + 10x2)
n

α

(1 + x2)
n

β

α = 3β

α = β3

β = α3

α = 2β

https://dl.doubtnut.com/l/_cuhERkdKxHVl
https://dl.doubtnut.com/l/_gPBgSnwIPkiE


22. If  denote the binomial coefficients 

in the expansion of , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C0, C1, C2, …, Cn

(1 + x)n

C0
2 + 2C1

2 + 3C2
2 + ... + (n + 1)Cn

2 =

(2n + 1)2n
Cn

(2n − 1)2nCn

( + 1)2nCn

n

2

( + 1)2n− 1Cn

n

2

23. If 
 be the coefficient of four consecutive

terms in the expansion of 
 then prove that: 

a1, a2, a3, a4

(1 + x)n,

https://dl.doubtnut.com/l/_3xjE42KbcXPo
https://dl.doubtnut.com/l/_EaWEb4AkdIwB


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ = .
a1

a1 + a2

a3

a3 + a4

2a2

a2 + a3

2a2

a2 + a3

2a2

a3

a2

a2 + a3

a3

a2

24. The ratio of the coefficient of  to the term

independent of x in the expansion of  is

A. 

x15

(X2 + )
15

2

x

7: 16

https://dl.doubtnut.com/l/_EaWEb4AkdIwB
https://dl.doubtnut.com/l/_GGhIbsnn99jg


B. 

C. 

D. 

Answer: D

Watch Video Solution

7: 64

1: 4

1: 32

25. The coefficient of the term independent of x in the

expansion of 

A. 4

B. 120

C. 210

D. 310

( − )
10

x + 1

x2 / 3 − x1 / 3 + 1

x − 1

x − x1 / 2

https://dl.doubtnut.com/l/_GGhIbsnn99jg
https://dl.doubtnut.com/l/_6AI8Clqqrw21


Answer: C

Watch Video Solution

26. The coefficient of  in the expansion of 

 is :

A. 

B. 

C. 132

D. 144

Answer: B

Watch Video Solution

x7

(1 − x − x2 + x3)
6

−132

−144

https://dl.doubtnut.com/l/_6AI8Clqqrw21
https://dl.doubtnut.com/l/_EIlmpie8Hw3w
https://dl.doubtnut.com/l/_gOyVssdR3A5s


27. The value of , is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

50C4 +
6

∑
r= 1

56 −rC3

56C4

56C3

55C3

55C4

28. If , then 

 is equal to

A. 8

(
n

r + 1
) = 56, (

n

r
) = 28 and (

n

r − 1
) = 8

n + r

https://dl.doubtnut.com/l/_gOyVssdR3A5s
https://dl.doubtnut.com/l/_Wh8zFrotXVfX


B. 10

C. 12

D. 9

Answer: B

Watch Video Solution

29. If 

then find the value of 

A. 32

B. 63

C. 64

D. 31

(1 + x − 2x2)
6

= 1 + a1x + a2x
12 + + a12x

12,

a2 + a4 + a6 + + a12.

https://dl.doubtnut.com/l/_Wh8zFrotXVfX
https://dl.doubtnut.com/l/_jIGDZsXHzHfJ


Answer: D

Watch Video Solution

30. The least positive integer n such that

 is

A. 6

B. 7

C. 8

D. 9

Answer: C

Watch Video Solution

(
n − 1

3
) + (

n − 1

4
) > (

n

3
)

https://dl.doubtnut.com/l/_jIGDZsXHzHfJ
https://dl.doubtnut.com/l/_NouWTkgoC93x
https://dl.doubtnut.com/l/_bKCUUHYiF4hr


31. If , then  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cr = (
10

r
) Σ10

r= 1Cr− 1Cr

(
20

9
)

(
20

10
)

(
20

13
)

(
20

8
)

32. In , then  is divisible

by

A. 1904

n ∈ N 121n − 25n + 1900n − ( − 4)n

https://dl.doubtnut.com/l/_bKCUUHYiF4hr
https://dl.doubtnut.com/l/_nVqkHYJkIsJN


B. 2000

C. 2002

D. 2006

Answer: B

Watch Video Solution

33. The remainder left out when  is divided by

 is:

A. 0

B. 2

C. 7

D. 8

82n − (62)2n+ 1

9

https://dl.doubtnut.com/l/_nVqkHYJkIsJN
https://dl.doubtnut.com/l/_qNMvEAVyKHCv


Answer: B

Watch Video Solution

34. If , then the value of 

 is

A. 

B. 

C. 

D. 4

Answer: C

View Text Solution

x = 7 + 4√30
2n

= [x] + f

x(1 − f)

22n

32n

12n

https://dl.doubtnut.com/l/_qNMvEAVyKHCv
https://dl.doubtnut.com/l/_FYjmLRidohrA
https://dl.doubtnut.com/l/_yKPUwS3yMTm3


35. The expression  is divisible by

A. 3

B. 4

C. 5

D. 6

Answer: A

View Text Solution

n3 + 3n2 + 5n + 3, n ∈ N

36. The sum of the series 

 is -

A. 

.20 C0 − .20 C1 + .20 C2 − .20 C3 + ... − . + .20 C10

− 20C10

https://dl.doubtnut.com/l/_yKPUwS3yMTm3
https://dl.doubtnut.com/l/_vo6Huup2aeEJ


B. 

C. 0

D. 

Answer: B

Watch Video Solution

20C10
1

2

20C10

37. The number of terms in the expansion of

A. 

B. 

C. 

D. 

(a + b + c)n, wheren ∈ N.

(n + 1)(n + 2)

2

n + 1

n + 2

(n + 1)n

https://dl.doubtnut.com/l/_vo6Huup2aeEJ
https://dl.doubtnut.com/l/_NlLmzi1ZeQk9


Answer: A

Watch Video Solution

38. The vaule of  is equal to

A. 

B. 

C. 

D. 2n

Answer: A

Watch Video Solution

n− 1

∑
r= 0

(
Cr

nCr + nCr+ 1

n

2

n + 1

2

n − 1

2

https://dl.doubtnut.com/l/_NlLmzi1ZeQk9
https://dl.doubtnut.com/l/_dwt3BltcIvUv


39. The sum of the rational terms in the binomial expansion

of  is 

A. 25

B. 32

C. 9

D. 41

Answer: D

Watch Video Solution

(2 + 3 )
101

2
1
5 :

40. If a and b are the coefficients of ,

respectively in the expansion of , then

xr and xn−r

(1 + x)n

https://dl.doubtnut.com/l/_RtB6Zc0XkiXJ
https://dl.doubtnut.com/l/_wDIesnSaCpmX


A. a=b

B. 

C. 

D. 

Answer: A

Watch Video Solution

a + b = n2

a = nb

a + b = 2n/ 2

41. If n is a positive integer, then 

is

A. an irrational number

B. an odd positive integer

C. an even positive integer

(√3 + 1)
2n

− (√3 − 1)
2n

https://dl.doubtnut.com/l/_wDIesnSaCpmX
https://dl.doubtnut.com/l/_lLc8Oeu3meuq


D. a rational number other than positive integers

Answer: A

Watch Video Solution

42. Prove the following by the principle of
 mathematical

induction: 

A. 

B. 

C. 

D. 0

Answer: A

+ + + + =
1

3. 7

1

7. 11

1

11. 15

1

(4n − 1)(4n + 3)

n

3(4n + 3)

n

3(4n + 3)

n

5(5n + 3)

n

3(7n + 3)

https://dl.doubtnut.com/l/_lLc8Oeu3meuq
https://dl.doubtnut.com/l/_6VkI9YhtG8Ht


Watch Video Solution

43. In the expansion of  , the constant term,is

A. 

B. 0

C. 

D. 

Answer: D

Watch Video Solution

(x3 − )
15

1

x2

15C9

10C9

− 15C9

https://dl.doubtnut.com/l/_6VkI9YhtG8Ht
https://dl.doubtnut.com/l/_ALEmseEGluxv


44. If , then  is

equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sn =
n

∑
r= 0

and tn =
n

∑
r= 0

1

.n Cr

r

.n Cr

tn

sn

n

2

− 1
n

2

n − 1

2n − 1

2

45. The number of terms in the expansion of

 is(1 + 5√2x)
19

+ (1 − 5√2x)
19

https://dl.doubtnut.com/l/_eDDpCjpRWEC3
https://dl.doubtnut.com/l/_ULM68jBoXYb8


Bitsat Archives

A. 10

B. 7

C. 13

D. 4

Answer: A

Watch Video Solution

1.  is divisible by

A. 64

B. 36

23n − 7n − 1

https://dl.doubtnut.com/l/_ULM68jBoXYb8
https://dl.doubtnut.com/l/_yTzanTbbDXXU


C. 49

D. 25

Answer: C

Watch Video Solution

2. If n is a positive integer, then  is divisible by

A. 2

B. 6

C. 15

D. 3

Answer: D

n3 + 2n

https://dl.doubtnut.com/l/_yTzanTbbDXXU
https://dl.doubtnut.com/l/_TBwhjADR1UVL


Watch Video Solution

3. The sum of the coefficients in the expansion of 

, where n is a positive integer, is

A. 0

B. n

C. 1

D. 

Answer: C

Watch Video Solution

(5x − 4y)n

−1

https://dl.doubtnut.com/l/_TBwhjADR1UVL
https://dl.doubtnut.com/l/_tEI3EzWKYOHb


4. Let  and 


 and w be a complex cube root of unity 


Statement 1: a+b+c

 


Statement 2: 

A. 1

B. 0

C. 

D. 

Answer: A

Watch Video Solution

a =
∞

Σ
n= 0

!, b =
∞

Σ
n= 1

!
x3n

(3n)

x3n− 2

3n − 2

C =
∞
Σ

n= 1
!

x3n− 1

3n − 1

= ex, a + bw + cw2 = ewx and a + bw2 + cw = ew
2

a3 + b3 + C 3 − 3abc = 1

−1

−2

https://dl.doubtnut.com/l/_pT9ZqLWExzEB


5.  is divisible by 

A. 7

B. 5

C. 9

D. 17

Answer: C

Watch Video Solution

10n + 3(4n+ 2) + 5 (n ∈ N)

6. The coefficient of  in the expansion of 

, when n is odd, is

A. 

xn

loge( )
1

1 + x + x2 + x3

−
2

n

https://dl.doubtnut.com/l/_kac82JU1cBGD
https://dl.doubtnut.com/l/_2Zc9P3Qkg2gQ


B. 

C. 

D. 

Answer: B

View Text Solution

−
1

n

1

n

2

n

7. Find the value of 

A. 0

B. 

C. 

D. 

−8 C1 +8 C2 × 6 −8 C3 × 62 + ……. +8 C867^ (8)C0

6

67

68

58

6

https://dl.doubtnut.com/l/_2Zc9P3Qkg2gQ
https://dl.doubtnut.com/l/_juUCTAKV4fTe


Answer: D

Watch Video Solution

8. If the coefficient of second, third and fourth terms in the

expansion of  are in AP, then n is equal to

A. 7

B. 4

C. 5

D. 6

Answer: A

Watch Video Solution

(1 + x)n

https://dl.doubtnut.com/l/_juUCTAKV4fTe
https://dl.doubtnut.com/l/_xPBK0wv5Da2x
https://dl.doubtnut.com/l/_NirQlKP5sd0P


9. If , then

A. 

B. 

C. 1

D. 0

Answer: D

Watch Video Solution

(1 + x)n = C0 + C1x + C2x
2 + … + Cnx

n

C0 + 3C1 + 5C2 + …. + (2n + 1)Cn =

3n

2n

10. The value of  is

A. 252

(√5 + 1)
5

− (√5 − 1)
5

https://dl.doubtnut.com/l/_NirQlKP5sd0P
https://dl.doubtnut.com/l/_9ao9tpoWnU78


B. 352

C. 452

D. 552

Answer: B

Watch Video Solution

11. The coefficient of  in the expansion of 

is

A. 

B. 4692

C. 2346

D. -

x5 (2 − x + 3x2)
6

−4692

5052

https://dl.doubtnut.com/l/_9ao9tpoWnU78
https://dl.doubtnut.com/l/_qHHkpwlmQjXf


Answer: D

Watch Video Solution

12. If  denote the coefficients in the

binomial expansion of , then the value of 

 is

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

C1, C2, C3, …Cn

(1 + x)n

nC1 + 2. nC2 + 3. nC3 + …. + n. nCn

(n − 1)2n

n.2n− 1

n.2n+ 1

https://dl.doubtnut.com/l/_qHHkpwlmQjXf
https://dl.doubtnut.com/l/_NBUAI0G8fjAl


13. Larger of  is ………..

A. 

B. 

C. Both are equal

D. None of these

Answer: A

Watch Video Solution

9950 + 10050 and 10150

10150

9950 + 10050

14.  is equal to

A. 

+ + + ...
1

n !

1

2!(n − 2) !

1

4!(n − 4) !

2n− 1

n !

https://dl.doubtnut.com/l/_NBUAI0G8fjAl
https://dl.doubtnut.com/l/_1EYkggOdUuIE
https://dl.doubtnut.com/l/_xZixr6TAKuOq


B. 

C. 

D. 

Answer: A

Watch Video Solution

2n

(n + 1) !

2n

n !

2n− 2

(n − 1) !

15. When  is divided by 5, the least positive remainder is

A. 4

B. 8

C. 2

D. 6

2301

https://dl.doubtnut.com/l/_xZixr6TAKuOq
https://dl.doubtnut.com/l/_4tDQg23jbvGP


Answer: C

Watch Video Solution

16. The middle term in the expansion of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x − )
18

1

x

18C9

− 18C9

18C10

− 18C10

https://dl.doubtnut.com/l/_4tDQg23jbvGP
https://dl.doubtnut.com/l/_MV3hmQrfKVxa

